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4. (1) Find the slope of the tangent line to the graph of y=e**Inax at x=1.
(10%)
(2) Evaluate the area (% #% )bounded by the graph of y=sinx and the x-axis
on[0,27]. (10%)



5. (D). &ﬁIZQn— ”+”n” L3 dcar ? Flear Birs @2 (10%)
(2) Find the power series for vi+x. (% > 7] d1% 3 ) (10%)

6. Consider the following linear programming problem (P).
(P) Max  Z=3x;+3 X,
St 3X1+X, < 18

X1+ 2%, <12
X1 <4
X120, X,>0

(1) Draw the feasible region (¥ {7 ji# % 3*) for Problem (P). (10%)
(2) Find the optimal solution for Problem (P) by using simplex method.
(10%)

7. Consider the following transportation problem.

Cost D1 |D2 D3 | supply
S1 5 3 8 40

S2 14 |4 5 40

S3 4 2 8 80
demand |20 |40 100 |160

(1) Find the solution of the above transportation problem by using
Northwest Corner Rule (& # &/2). (10%)

(2) Find the optimal solution (# i %) of the above transportation
problem. (10%)



8. Consider the following network.

(1) Find the minimal spanning tree of the network and compute its

distance. (10%)
(2) Find the shortest path of the network from point 1 to point 8 and
compute its distance. (10%)
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10. Consider the following project problem and its corresponding network.

Immediate  [Estimated
Activity | Predecessor |Completion Time
A None 90
B A 15
C B 5
D G 20
E D 21
F A 25
G CF 14
H D 28
I A 30
J DI 45
25 4/ 20

e

(1) Find the completion time for the project. (10%)

(2) Which activity (A to J) has the largest slack time ?  Why ? (10%)



